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'@' W Negatiiviset eksponentit 10

Nimi: Paivamaara: _ Pisteet:
Sx10= 533,8 100D =
2% 107 = 362,7+ 1009 =
9 x 1004 = 1004 =
321,4 x 107 = 336,7 x 1002 =
1009 = 1002 =
g x 100D = 1003 =
1 x10° = 2% 10% =
823,8+ 107 = 867.5 x 1002 =
8x 10 = 558,2 x 1001 =
854,5x 102 = 1003 =
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[EXIT] o .
g — ﬂ Negatiiviset eksponentit 10

Nimi: Paivamaara: _ Pisteet:
5% 10 = 50 533,8+ 100" = 5338
2% 1072 = 0.002 362,7+ 107 = 362700
—2x 107 = —0.0002 107 = 0.0001
321,4 x 10°% = 0.03214 336,7 x 1002 =3.367
1072 = 0.001 107 = 0.01
8x 107" =0.8 107 = 0.001
1x10° =1 2 x 10* = 200
823, 8+ 10% = 8238000 867,5 x 1072 = 8.675
8 x 107 = 0.008 558,2 x 100°) =55.82
854,5 x 1072 = 8.545 107 = 0.001
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